7000 GeV pp Top (parton level)
ARLEE B B BN B LA L L L LA DL B B o

pT (thar)

X
x

I II»II!lL I IIIIIII|
D S R
o
5
5
43
!‘»
5

Rivet 3.1.10, = 3.3M events

Ratio to Pythia 8.308 default
[N

0.5

Sy
S,
"'-1’6;&/6‘
. S84,

— —— Pythia 8.308 default Cha, —
= Pythia 8.308 tune-1 “‘“Aw =
B Pythia 8.308 tune-2c A SaA, T
B Pythia 8.308 tune-2m 5
E| R R PR KNP T S R A R o E
:l T T T T | T T T T | T T T | T |:
| 1 1 1 1 " | " 1 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 1
0 100 200 400

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


